ECE 300
Spring Semester, 2007
Test #1
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Work the exam on your own engineering paper. Work on one side of your paper only. Attach your
work to the back of this exam sheet and staple in the top left hand corner. Each problem 20%.

(1) You are given the circuit of Fi gure 1.

(a) Use mesh analysis to find the currents i1, 1z, i3 and is.
(b) How much power is supplied by the 24 V source?
(c) How much power is dissipated by the 3 ) resistor?
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(2) Use any method of your choice to answer the following questions about the circuit of Figure 2.
a) Determine the voltage V,, as shown in Figure 2.
g g

(b) How much power is absorbed by the 10 € resistor shown in F igure 2.
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(3) Use any method to find the voltage Vg, in the circuit of Figure 3.

[/l‘w. Nnp o/ ,;chds/jefi? 2o

ﬂ() U’ _Zo 7L V}; —/ O 71,
| R £

5Vs-I50 4 1oy, _joo 4 2V, +Ho =2

/7 Ve = 210
Ve = 22,35V

Asp {j FVL, = yiyes =0, ow &L

Ve 228 # ¥ =
Vib = — 20 =V, = —323sV

Ve = —32.35 v/




(3) Use any method to find the voltage V,y, in the circuit of Figure 3.

Using mesh  analys:
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(4) Find R, for the circuit of Figure 4.
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(Sj You are given the circuit of Figure 5. Use any method to find the Voltagé \/
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(6) This problem is for extra credit. Part (a) is for 1 point. Part (b) is for 1 point.
There is no partial credit given. In each case, the answer is either correct or not correct.

(2) Find the voltage V,, indicated in the diagram of Figure 6 (a)
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(b) Give the value of the current Ix in the 12 Q resistor, up to the second significant decimal place,
for the circuit shown Figure 6b.
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